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Aufgabe 1: ∫
γ

y dx+ x dy =

∫ 1

0

t21 + t · 2t dt =

∫ 1

0

3t2 dt = 1

Aufgabe 2: ∫
γ

x2 dx+ y2 dy =

∫ 1

0

4t2 · 2 + 16t2 · 4 dt =

∫ 1

0

72t2 dt = 24

Aufgabe 3:∫
γ

ex dx+ ey dy =

∫ 1

0

e
√
t · 1

2
√
t

+ et · 1 dt =

∫ 1

0

e
√
t · 1

2
√
t

dt+ e− 1

=

∫ √
1

√
0

es ds+ e− 1 = 2e− 2

Aufgabe 4: Für gegebenes a, b ∈ R2 sei γa,b : [0, 1]→ R2 gegeben durch γa,b(t) = (ta, tb).
Setze

f(a, b) =

∫
γa,b

(12xy + 3) dx+ 6x2 dy

=

∫ 1

0

((12t2ab+ 3)a+ 6t2a2b) dt = 4a2b+ 3a+ 2a2b = 6a2b+ 3a

Und tatsächlich:
df(x, y) = (12xy + 3) dx+ 6x2 dy


